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Aokt 6,111560|  8975718] 2,864,158
SHETAIM BE Y SEHYM 5856,060|  8911855| 3,055,795
ZTot4E 2 5856,060|  8911855| 3,055,795
StaHelE A BHI(TEES) 2447600  4,697,635| 42,250,035
401 A& L LTI 2,447,600  4697,635| 2,250,035
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O Y&EGI4+HAY A& 1,300,000,0008 X 14 1,300,000
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700,000,0008 X 14 700,000
O HIIZHESLS(Z 35,000,002 X 14 35,000
O ot+Hel® ¥ SHEEZ 24 400,000,0008 X 14 400,000
401-03 (A& STHEI) 12,600 22,635 210,035
O Y&EGI4+HAY A& 1,300,000,0008 X 0.36/100 4,680
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700,000,0008 X 0.72/100 5,040
O h+Mel® o SHBIZ B4 400,000,0008 X 0.72/100 2,880
SHP2 FUI(REE) 3408460 4214220  A805,760
401 AIEHI LS TR 3408460  4214,220|  A805,760
401-01 (Al&HI) 3,300,000( 4200000  A900,000
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O 845 Z4E el 20,000,009 X 53| 100,000
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O th+28 | 200,000,0008 X 14 200,000
O SNEAl HHYBE F 1,300,000,0008 X 14 1,300,000
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500,000,000& X 14 500,000
O A=A W S3ct=22 0l& A 100,000,000& X 14 100,000
O ot=% HES2 FHIAIS(F2X) 200,000,0008 X 14 200,000
O otz =8 LTI I 200,000,000& X 1A 200,000
401-02 (2eldl) 100,000 0 100,000
O ot==& At 100,000,000& X 14 100,000
401-03 (Al&=0idl) 8,460 14,220 A5,760
O HASAl S22 FHISAH 1,300,000,0008 X 0.36/100 4,680
O ot=% HESZ FHIAIS (FEX)
200,000,000& X 0.72/100 1,440
O ot=22 =H XX
200,000,000& X 0.72/100 1,440
O A=A W S3ct=22 0l& A
100,000,000& X 0.90/100 900
AY=2HES 5,500 0 5,500
LEHH2H 2cl 5,500 0 5,500
NegasE SFARIS 2L (SII7HIS) 5,500 0 5,500
405 KHoHFSHIS 5,500 0 5,500
405-01 (MHAMLESFHSH|) 5,500 0 5,500
O otk 2e HIE 7 5,500,000& X 14 5,500
oild1 | 250,000 63,863 186,137
ol gl 250,000 63,863 186,137
Gl]}:] 250,000 63,863 186,137
801 Gl 250,000 63,863 186,137
801-01 (& etoilblbl) 50,000 63,863 213,863
O ot=x AX=0lat olgid] 50,000,000& X 14 50,000
801-02 (XHGH.XHHS=oidlb]) 200,000 0 200,000
O ot+=% THoH:=H Ol ] 200,000,000& X 1A 200,000
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